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Local Government Series One-Day Cer-
tificate of Indebtedness Demand De-
posit.’’ The notice must show the Tax-
payer Identification Number of the
issuer, the Treasury case number, the
security number and the dollar amount
of the securities to be redeemed. DSI
must receive the notice by 3:00 p.m.,
Eastern time on the required day. You
cannot cancel the notice.

Subpart D—Special Zero Interest
Securities

§ 344.10 What are Special Zero Interest
securities?

Special zero interest securities were
issued as certificates of indebtedness
and notes. Provisions of subpart B of
this part (Time Deposit Securities)
apply except as specified in subpart D
of this part. Special zero interest secu-
rities were discontinued on October 28,

1996. The only zero interest securities
available after October 28, 1996, are
zero interest time deposit securities
that are subject to subpart B of this
part.

§ 344.11 How do I redeem a Special
Zero Interest Security before matu-
rity?

Follow the provisions of § 344.6(a)–(g)
except that no market charge or pen-
alty will apply when you redeem a spe-
cial zero interest security before matu-
rity.

APPENDIX A TO PART 344—EARLY RE-
DEMPTION MARKET CHARGE FOR-
MULAS AND EXAMPLES FOR SUB-
SCRIPTIONS FROM DECEMBER 28, 1976,
THROUGH OCTOBER 27, 1996

(a) The amount of the market charge for
bonds and notes subscribed for before Octo-
ber 28, 1996 can be determined by the fol-
lowing formula:
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(b) The application of this formula can be illustrated by the following example:
(1) Assume that a $600,000 note is issued on July 1, 1985, to mature on July 1,

1995. Interest is payable at a rate of 8% on January 1 and July 1.
(2) Assume that the note is redeemed on February 1, 1989, and that the current

borrowing rate for Treasury at that time for the remaining period of 6 years and
150 days is 11%.

(3) The increased annual borrowing cost is $18,000. ($600,000)x(11%-8%)
(4) The market charge is computed as follows:

VerDate 11<MAY>2000 09:45 Aug 21, 2001 Jkt 194116 PO 00000 Frm 00264 Fmt 8010 Sfmt 8006 Y:\SGML\194116T.XXX pfrm07 PsN: 194116T



265

Fiscal Service, Treasury Pt. 344, App. A

(c) The amount of the market charge for certificates of indebtedness subscribed
for before October 28, 1996 can be determined by the following formula:
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(d) The application of this formula can be
illustrated by the following example:

(1) Assume that a $50,000 certificate of in-
debtedness is issued on March 1, 1987, to ma-
ture on November 1, 1987. Interest is payable
at a rate of 10%.

(2) Assume that the certificate of indebted-
ness is redeemed on July 1, 1987, and that the
current borrowing cost to Treasury for the
123-day period from July 1, 1987, to November
1, 1987, is 11.8%.

(3) The increased annual borrowing cost is
$900. ($50,000) x (11.8%-10%)

(4) The market charge is computed as fol-
lows:

APPENDIX B TO PART 344—FORMULA FOR

DETERMINING REDEMPTION VALUE

FOR SECURITIES SUBSCRIBED FOR

AND EARLY-REDEEMED ON OR AFTER

OCTOBER 28, 1996

(a) This formula results in a premium or
discount to the issuer depending on whether
the current Treasury borrowing rate at the
time of early redemption is lower or higher
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than the stated interest rate of the early-re-
deemed SLGS security. The total redemp-
tion value for bonds and notes can be deter-
mined by the following two steps. First, cal-
culate accrued interest payable in accord-
ance with § 344.6(d)(1) using the following for-
mula:

Second, calculate the redemption value per
§ 344.6(d)(2) using the following formula:

(b) The application of this formula can be
illustrated by the following examples:

(1) The first example is for a redemption at
a premium.

(i) Assume that an $800,000 2-year note is
issued on December 10, 1996, to mature on
December 10, 1998. Interest is payable at a
rate of 7% on June 10 and December 10.

(ii) Assume that the note is redeemed on
October 21, 1997, and that the current bor-
rowing rate for Treasury at that time for the
remaining period of 1 year and 50 days is
6.25%.

(iii) The redemption value is computed as
follows. First, the accrued interest payable
is calculated as:
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Then, the redemption value is calculated as:
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(2) The second example is for a redemption
at a discount and it uses the same assump-
tions as the first example, except the current
Treasury borrowing cost is assumed to be
8.00%:

(i) Assume that an $800,000 2-year note is
issued on December 10, 1996, to mature on

December 10, 1998. Interest is payable at a
rate of 7% on June 10 and December 10.

(ii) Assume that the note is redeemed on
October 21, 1997, and that the current bor-
rowing rate for Treasury at that time for the
remaining period of 1 year and 50 days is
8.00%.
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(iii) The redemption value is computed as
follows.

First, the accrued interest payable is cal-
culated as:

Then, the redemption value is calculated as:
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(c) The total redemption value for certificates of indebtedness can be deter-
mined by the following two steps. First, calculate accrued interest payable in ac-
cordance with § 344.6(d)(1) using the following formula:
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Second, calculate the redemption value per § 344.6(d)(2) using the following
equation:

(d) The application of this formula can be illustrated by the following examples.
(1) First, for a redemption at a premium:
(i) Assume that a $300,000 security is issued on December 5, 1996, to mature in

151 days on May 5, 1997. Interest at a rate of 5% is payable at maturity.
(ii) Assume that the security is redeemed on April 9, 1997, and that the current

borrowing rate for Treasury at that time for the remaining period of 26 days is
4.00%.

(iii) The redemption value is computed as follows.
First, the accrued interest payable is calculated as:
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Then, the redemption value is calculated as:
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(2) Secondly, for a redemption at a discount:
(i) Assume that a $300,000 security is issued on December 5, 1996, to mature in

151 days on May 5, 1997. Interest at a rate of 5% is payable at maturity.
(ii) Assume that the security is redeemed on April 9, 1997, and that the current

borrowing rate for Treasury at that time for the remaining period of 26 days is
6.25%.

(iii) The redemption value is computed as follows.
First, the accrued interest payable is calculated as:

VerDate 11<MAY>2000 09:45 Aug 21, 2001 Jkt 194116 PO 00000 Frm 00274 Fmt 8010 Sfmt 8006 Y:\SGML\194116T.XXX pfrm07 PsN: 194116T



275

Fiscal Service, Treasury Pt. 344, App. B

Then, the redemption value is calculated as:
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